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70. What is the respective ratio

between the number of feales

in company P and number of

fermides in company L?

(EhS 25 [2125:8

(RIS (a1 16:3

[5j None of these

The number of femabe employ-
warking in company O is

what per ceniof total employ-

ces working m that company ®

3 [2) 12

nas 41 13

Lol Mone ol e

. Whal is the average namber of

L mpl-.l:\. ces i all L:lmpalllr!

together T

HEE [2] 75

() 760 (41 GO0

[5) Mone of these

“Thee nuamnber of female emgloy-

ees bn epmpany M is

[V} A5 [2) 150

[3) 250 14) 350

(5 None of these

The total number of male -

players working in companies

Mol P logether 15

[1] 1240 12) 1360

[ 1340 140 1260

[5] Nome of these

Directions [75-78) : Whal

approximale value slould

e following questions at the

{iems places, -
[You dre fol nequ
culate the exact val

-4

73

74,

76 [13.0017 =7
{1} 1200
MHEII'
O -+ 5000 =7
(2] 3630
(4] 3020

S 50.0019% 0r99.99 + 45,999 =

i (2ol
{3y 001 (4] o2
{5) None of these
TH. SO0 - B95.0GY - 349.88
1) 1549 2] 1560
f3) 1449 (4] 1480

T (200011 = (1.999]7 + {3,995

=7

{1k 218

(3] B4 41256

(5 512

Directions (80-84) @ In the
follpwing table the number of unils
manufaciured and sald by five com-

panies- P Q. R 5 and T has been
given. Study the given data carelully

and answer the questions.
Compary | Mumbar of Mgmmier o
units rals

manufachred | FaAulciunsd
(in Mousand) | (in Sousare)

Ui X3 il

Q 45 S

A = s |

3 40 n

T = 'lﬂ

B0, What is the a
fin thoasand) ul' e
factured by all
together 7 \
{1] 41 - 0

243 ﬁ:ﬁim

(%) 45
Lhe respective ratio
the pundsr of wnils

company 5 and that

%ﬂhwnﬂmﬂ?
A
i’

=

nes

Bl.

[117:8 a2z
[¥e:a TR |
(5) Mome of these

Which company sold highesi
perceniage of unils ag com
pared o manulzctured by it ? |
ma R

P e

5i5

« What is the sverage number of |
units {in thousand] sebd by all |
the compantes together ? I
{1h25.7 (213

(ary [4} 2R.6

{5} None of these

What is the respective ratlo
between the undis manalars
tured by company P and cam-

15) None of these

pany 57

(17:8 [218:7
[33:5 14]5:3
(3] None of these

R

B85. From a well-shuilled pack o
52 playing carda. one card s
drawn ab random, What is the
prohabslity that the card drovm
weill b @ black king #

1 7
L1} ET 1] = 3

3
B 75 4] = q-“,:jﬁ.
;o i‘}
T

BB, A horse = Iu lo & peq

with a Tl beeloe borgt rope al

the ¢ A0 meetre lemg
and ﬁtwnﬂr rectangular
What areq of the

itl the horse graze 7
% b ([2)30Bm
V24007 [4] 450 m*
[5) Nane of these
Farah was married B years

]
ann. Todav her age s I? times

to ihat ai the time of marrage
A pressnl her daughters age

1
is l_i th o hiey e What was

ler davgliber’s age 3 years ago?
[11 6 vears |21 7 vears
A3 years
(41 Camarnt Be determined
15] Noase ol these
- Mantsh honght 25 kg of rice at
Fis, 320 e kg aned 5 Kg ol reee
at Rs, 36 per kg What profit
did he get when he mixed the
two varielies fogether and sold
it at Rs, 0.0 per kg ?
117 25%: 12} 407
i30T [E1FiEa
15) None of these
Directions [89-03] ¢ In cach
of the followsmg guestions o eguea-
liwns are given. Solve these etua-
Lions and give anawer |
Mo xz g 1e. xis preater
tham ar equal to iy
[20iF x>y e, xis greater
than i
[341 x5 g, e, xis less than
or equal 1oy
[ 47 x « Y. Le., xless than y
|5) &= y or no rélation can be
esiablished between xand y
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BB. I. 2+0x+6=0
M@ eTys12=0
90. I, ¥+20=80
N+ dd= 13y
Bl [ Ix+3y=14
{1, dx+2y=15
82, 1. x= ‘nﬁ
1. Yu «ﬁ
02. I F¥rdx+4=0

. Pf= ﬁg + @

Dircctions [94-88) : Woa ol
ooeme ot the place af guesion masd
1#) bn the lollowind nursSer som=g F
B4, 3 1731 7 3245 A432 3523

[2ar P i
[l s H 3387
(3 None of thess
98 10 8 34 T A0 258
(nx 250
(68 5 85
(3] Mone of thes:
B8, 410 33 135 7 2115
(1) 22 3534
[3) 6ES =\ T45
13] 548
97. 4000 BOD 7 &, 2D 3
117 1400 [ i
[3) 400 3
{5) N0
BE. 34 16 75 384 Q
mmws ’@
13} 1293 m
. & *
a4a. i 15 soven wmes
gal Value of i= cir
T What 8 the -
al the etrele 2

G unils

{31 88 units

(4] Cannot he determined

6] None of these

100 The compound interest earmed
an a sum m 3 years al 5%

2] 132 writs

nfly ts 7 €500.52. What is the
sum T

Ny 12480  (2)% 10500
[3hF 14800 ) F 13620
{5} Nome of Lhese

e angwum compoinded annug- |

ENGLISH LANGUAGE

Directions (101-110]) : Each
zizession bebow has two blanks, each
inddicating thal something has
ammited; Choose the set of
Ioi each blank that best fils
e meamng of the senfence as a

101 A plethora of cultural talent
—_ the spectators busy at a
talent hunl prograsnme where
students from various colleg
o5 gel together Lo __ their
miethe in various contesis,
(£} trbed, show
(2} kepl, prove
(3} caughl, puzzle
(4} held, learn
(5} helped. mention

102.The ____ of Chin
thread should be b 13
. thou
g the el

|
1 —__ with eme some ha-
aat lechmiquies that onecan ___
at home without even owning
& drumset.
[V} made, shred
&} smparted. try
[3] bevrmed, halance
(4] Eits, rechearses
15 shared, practise
104, In the present case. the facls
ciearly ____ that the required
reasonable degres of care and
caution was mol by hos-
pital i the treatment of the
patent.,
{1} reflect. onmpressed
[3] fix, advancement
(3} show. proceeded
[4] vhserve, considered
13 indicate. taken
| 108. Siudents from the Middie Easi
and the Alrican countries have
_ been __ contribastors to
the pool of foregn students in
the university.

(1) traditiemally. magor
12} conservatively, crucial
{3 suprisinghy, mosl
{4l intutively, salicnt
150 amrmzally, lucid
108, The nadnister S TR T

being provided
clals for the pilgrims i

od passenger enclos:

107 " todrive in the evetsing
night when the ____ of
ents kaoms large due (o

non-funciional sireetlighis

1] juvendbe, planning

12) easy. risk

{3 instmcuve, ame

(4 diffieuli, threat

{5} natural, feature

108. An overcast sky mudle Sunday
leas than _____ for rity vesi
dents, who geng by weather
expeeris have more i,
(1) difficult, fae
(2} perfect. store
{34 holiday, sky
(4} dhream, sharing
(A} steady. frame

109, Many learhers the kack

of profeasional Freedam as the
lor beiving ihe joh.

(1} eitedd. Trason

(2] explained, force

(3] clatmed, yndersianding

{4) angused . culprit

(3) belwve, ground
110, Sheplics wouldnel ____ thai

the carth acteally moves. let

aione Lhat It ——around the

ETH

(1) permit. arhits

[EFaccepl, revolves

3 experenoe, cincles

[4) assume. went

15] challeme. spins

Directions (111 - 125) : Frad
eqach sendence (o find out whether
there s any grammatical erior or
idiomatie error in it The error, i
any. will be in one part ol the sen
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tenee, The rmber of that parl s
the answer. If there 15 “No Ermor” the
answer is "5, [lgnore ermors of puse-
fustton i any.)

111. The couple’s work in (1) / up-
grading rural technicians 24/
has sct 3 benchmarking (307
fae future generations, 44/ No
Error [5)

112. 1t has takeng almost (1) a year
for India {21/ to let s pessi-
mmism {3}/ translate into fewes
Jobs. (4] No Eror (5)

113. The iy needs an asrport (1]
that can efliclently manage
{2)/ a constanily Now of (3)/
passengers and flights, [4)/ No
Erroe {5]

114. This groupaf (1)/ rural achsev-
ers is very (2} different than
the (3 ones in the past. [4)/
Mo Erroe (5)

118, The government has an-
nounced (1)) plans to creating
{21/ arte million new [ tran-
ing places, (4)] Na Error (3

118. The argument assumes thal
(1) early detection of the dis.
ease (2] will lead o an bmme:
diate drog in (3] the martali-
ty rating from this disease. [3)/
Ho Error (5]

117. The iwo rmost imporiant fm:
bers {11/ whisch the mandarins
of an (2)) economy have o

walch [3/ are inflation and_]

ymemplovment. [2)f Mo Brar
51 k]

122. I parents are able o [1)/ gt
(heir children imto schoals (2]
that are far wway, the (3 next
challenge is tranaportation.
41/ Ko Ermor [5)

123, The perception of others [11/
particularly family members
[2)) changed when he [3)/
malifiedt oo a Ewernment job.
i/ No Error (5]

124, Every house should 11/ have
the device as it [2)f protects
people from a (31 comman
houschold disaster, {43/ Na
Ervor (5}

125. Automated baggage handling
syaierns are 11/ ensurng that
on the tme 2, are
gast of the plane their [3/ bag:
gage i already waiting for

thern. (4)/ No Error (3]
Directions [126 - 140} : Read
e folloing passage carefully a
answer (e questions gven be F

Certain words have been J
bold 1o help you locate ,rhﬁ
answering some of ns.
Indeed the o s
really the beginming of good news
for indial B understand that

we will hate o move away for a
while [rofs pic ol western re-
cosslgiii,. 1o the Japanese reces-

5l years the Japanese style
; t has been admired.
i omever, over the last decade or s,

| orve ey question has sprung wp '
Japanese management siyke Is as
wanderinl as deseribed then why

118, Witneased the young has Japan been in a recession for
ability (1)/ ¢ hit | are than a decade 7
bull's eye ab (20 it The answer to this

fuestion is

ing, inslrset FHS‘T i ery simple. Culture plays 4 very

4 10 fpatt: in LRE AFEY | npsrtant part in shaping up econa

I;:.:]; Lg_lcmwl:ltm- mies, What succeeds in one culiure

fails in anelher. Japanese are basi-

119 [l well known that (1)) .-aujr:;:qnq:m.uhsm.:\nd l‘lﬂ"-\'ﬁ‘lﬂ

n are generally in fvour | eh they beeome. unlike others,

4 ._%Iﬂm,r light topics like jokes
) expresaions [/ thal caus-
i Eaughiter all around. (4] No
Ermor {5
120. The evening breeze (11 won'l
carrying the poetry (21 of
peace beyond [3)/ the schoal
building. (41 No Ermor 5]
121, We are bring in the sdea thal
{11/ European rehabiitation
focussed (2] on a mult-disd-
phinary approach (3] ewards
chronie padn. [4)/ No Errar (5)

they cannol just keep throwing and
buying endlessly. And once they
Ieave everything they need; there is
2 gaturation polnd. [ was only when
companies lilee Tovota nealized thal
they cannat keep selling cars el
lesaly 1o their homse market that
ey went really aggressive in the
westérn markets -and the rest is
| history. Japanese companits. grew
bigger by eatering io the world mar-
kets when their home markets
shrunk,

And the markets have to sheink
finally after aitaining a level of al-
fuence! And fhat's geeat far the
world because earth needs sustain-
able development. [t docs not need
monsirous consumers wha keep
consurming at 1he cost af the e
ranment and the earth. There
should be lioats 10 growth so that
consumers are not converted into

material dustbans far the prafit of &
| handful of corporations,
Owing to the stse ol

fure elsewhers, it was possible to
Teep selling néwer products to the
CONELITEDS de—sgfﬂl! having existing
anes whish served equally well, They
were fare through advertising and
"ﬂ'ﬁﬂ’ﬁl technigues al
risalion’ of the customier; and
thnally, orvce they becime ready
*Fustomers, they were gven lans and
erediiis to help them buy more and
more. When all the eredilwosthy
peophe were given kans to a lagical
[irmiit, Uy censed 10 be a part of the
markel., Even this would have been
understandable i it could work &s
an eye cpener. Instead of taking the
Taght Step’ as Tovota did, ey pre-
ferred bo take a shortout’, New banks
went o the non ereditworthy people
and gave them fcans, The peaple
expectediy delaubted and the entire
system collapsed.

Mo like Toynia wistermn oHmpa
nies will learn to find new markets.
They will now bean towards India
hecaise of its comman man! Tiwe
Biflion plus population in the next
25 vears will become, 4 consaming
middie-class, Finally, the world's
attention will shifl Lo the develop-
ing world. Finally, there will be 2
real surge in income of these people
and in the next fifty odd years, one
cam really hape Losee.an equal world
in terms of material plenty, with
poverly being almost nanexisteni:
And this will happen nat by selling
mare cars toe Amenicans and Buro-
peans. It will happen by creating
markets in India, China. Latis
America and Afmca, by giving thels
people purchasing power amed b
making products for them,

3
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The recession has made us real-
lze that it Is net because of witee
management technigues. bu. De-
cause of Hmits o growth, Asc they
will realize that 1 15 great
earih. After all, koa' o

smment |

@I huy

Q

last d:c#:

l!l..lapa.r.t*c Banis have
provided icans |

inately ta the cre mmhx
aswell as non crediwerthy
people,

{31 Bacause Japanese markels |
have been going through a

g whleh !'

pericd of continuous reces:
sion since the last decade. |

14} The unlimited m‘m\'lh of the I!:I !{'.Il:llg,I A 12] l'.'ll:l!_v B
-Japl::mmmmm {3) Omly C
alL the cost ol the weslcrn 4 Only A and ©
market. 1IE::: h':m ul.ﬁll.'n:

{5} Nonz of these

131 According 1o Lhe passage,
which of the lollowing was
NOT an eiffect of providing

loans and credils Lo the cus

128. Why does the aulhor foresee
the markeis being created in
the developing countries - |
stead of America and Europe 7

Lomers 7
[1] All developing countries .
have materialistie culture. W T_""d?“ ;'l"":""‘
[¥ Developed countries are " et B:“ "
willing to make an effort 1o (B Peog pmd

achieve glohalization.

(X} American and European
markels have had a large
mounber of credil defalters,

{4] Recession has not hit the
markets of developing
couniries yel.

5] Nane ol thease

128, According to the author, wi

15 {he main eause of Jap

siom 7 82, Why is recession the beginning
TEDES

of good news for India in the

author's view 7

1A India can provide an attrac-
tve market to the western
COMpanics.

(B} Inchia b resmamned kangely
umaflecied by recession ow-
g to 128 huge population.

[C] Inlians keep purchasing

7 slity 1o the: ezt products despile owning
ing nng ¥ equilly good products.
[4] Japanese do not purchase Monky C QYCOnly B
endiessly and thus when (3 Only A
products had been sald o | HOnly Band C
every cusoener, the markils 15] None of these
slowed dovn. 133. Wheat does the avihor mean by
(5] MNone of these ‘Dustbinisation’ of the cus-
130. How does the author foreses tomer 7
the future gobalization as an |11 Comvincing {he customer o
anabogy to Henry Ford's exam- buy products he does not
ple? neetd
(A} Car eompanies would start [2) Drenying the non credibwor-

selling cars in developing

counines as well,

{B] By paying the developing

thy peogple of any loans.
3] Derying more loans Lo pec-

ple who have already taken
world the developed workd :
would increase ils own bosens 1o @ logieal ML
profit. in turn bringing al- [4) Mavin froem old customers
Muenee to developing warld at the hame markel to for-
s well, rign markets.
] To carm prafii, the compa- {5 Mome of these

nfes i developing coun- | 134. Why according 1o the author
tries would move to forelgn 1 the current recession greal
lanad. for “Planet Earth’ 7
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{4] It will make people non-
materialistic ke the Japa-
nese,

[B] The unlimited market
growih which cawsed haz-
ards Lo the environmenl

. woatld e checked toa cer-
tain extent

() Banks will now provide
Joans onky to the creditwor-
thy people.

|1 Develoging countries will

also he henelited by shified

markets,

[1] Only &

2] Omly B and [

{3 Only A and B

4} Only B

15) Nome of these

Directions [135-137) :Choose

the word which i3 most slmilar in
meaning lo the word printed in bold
as used in the passage.

135. CATERING

(1] Considering (2} Lending

(3 Supplying  [4) Working

5] Indulging

136. KEY

11} Fuundation

13} Reguisite

[5 Impuorant

137, AGGRESEIVE

111 Vialent

2 Determined

(4 Demanding

4] Oifensive

151 Brutesh

(# Salution
) DHifecult

@Q

2] Helpless

[4) Warlhless

{5 Unilerpravileged
138, CONSUMING

(1] Destroymg

12} Exhanesting

13) Gireesly

{4} Curtailing

{3} Spending

{3} Worse

140. SURGE

i1l Decrease

12] Deterioraling

13} Weakening

I4p Atrophy [ Crumble

Directions {141- 150] : L the
folbawing passage there are hlanks.
each of which has been mumbered,
‘These nurmbers ane printed below the
passape and against each, e words
are syyggested, one of which best its
the blank approprialely. Find wual
the appropriate word bn each case

Twenty years (L&A1} now, neardy

happening at a much (143} raic
than infrastruciure cxpsansial.

Sustainabdlity ssues need
be (143 o that eonmic devcl
mient 5 not al the [144)
health, Some urban =
ought to be in [148) ﬁ

water, electricity, tran

stainiability in
e urban servic

bt transport ks a ma

(€ wehicles on the road. Resps
Qlor_v fliness i children bving m
rbain areas 15 on the [148) with
more cases of Asthma being (149}
becanse of pollution. The Fulure of
edties of Indian dreams depends on
[150) we can build beller cities 1
day,
141.(1] il
[ from
(5] on
143. (1] faster
{31 changecd
15} quick
143. (1} speculated
12) belierad
(3 tmaginied
[4) considered
[ understand
144, (1) payrnend. (2] rate
(3) cosls {4} charge
(5] expense

£ sinvee
4] afer

(2} phower
[ spared

G090 of the world's popalation will |
live I wrban areas. The impact nrl
urbanization muthl nat all be pesi- |
o om Hadia as urhan expansion is |

145. (1} abundance
(2} large
(3 functional
|41 warinity

1) whether

I3 location
147 {51 Girod
15 Suffictent G
i
worr! {70 develop
14 uniess 4] provided

146, (1] beine {2 rephrsines
12 Coprgpetend
148.11] m:lﬁr:{ﬁ
g
Wﬂﬂmpwd {4} resaalled
(3] weather

f LW sporvinies [ poslulates
13k Absrnee
2] expi
|5 1eporied
ANSWERS |

| {1 reguests
[4) Inadequate ‘Q
(1]
LI1) W

|

9L (4 | 92,15 |
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23 (4] 94| 98w | 9613 | 2. (5) Some apples are fruits. A+ E = E-type of Conclusion
gr. ) es 4| oo | 10000 *Mo bean % a seed.”
1 G [ is Converse ol il
1O (1] 102 (1) | 20 (5] | 104 5 No L s vegeiatile. onclysion
105, (1]] 106, (3 | 107. (4] | 108, 2 Mo seed is a bean,
108, (11| 110, (21 | 131 3 [112. . 1+ E = O-type of Conclusion
13 @ |14 3 (118 2 [1e 4 “Some apples are ol i i
117, G 118, 10 [0 [1300 2 vegetables. A AR P
131 (|02 4 113s s 1 g All potatoes are vegetables. E+Am()y- i‘,vpc inn
125, 21| 128 14 127, E 128, 3 fr’__..-? )
128, Wi} 130,12 |31 % 333 3 Mo vegetalsle is fruit,
133, (31134, 2 [135. 2 |13 5
137, @138, 5 [198. 1 | 140 1) f"E"E‘W:r:'F“m“”“
MLOS, . e85 I D Nr::&':nm: : ! I:n. I nor Il
2 147, % |1A 3 er Conclusion | nor he €
:z:: :: . t | fodlows. rmnanrkgm 18 true,
- £ 3. (5] All diaries are journals. :—::1 'E] i Py & et et - ftie
5 _  Slatement.
| EXPLANATION 8. (1) Obviously option (1) can be
(1-5): lnﬁ.;-md from the given inlor-
[i} AN bez=s zvs martan,
i, Alflzmative [8-11) :
_ oo-s-00
frine arr appics =
s firiative D D}S}T’R
Either Por Q is of 158 om.
Srversal 8. (311t 15 clear that T is shorter
than 5.
10, [5G 15 either 158 cm high or
“‘\\Q_ the abave diagram it is mriore than 158 orm.,
clear thal “Seme dianes being | 11, (4] Etther three or four persons
& books s a possibility®. are sharter than Q.
* o 4.1 Pr@>5=T=>R
w All potatoes are vegetahles, orn0s>P>8>T>R
12. (5] From the given information
we cannot infer option {5).
No wegetable 18 frull: A + A= A-type of Concluision
crrze A+ E = E-type of Concluston | 13. (4) Obviously option (4} is
onclus:s - “No potats 18 frue” carrect,
ﬁ%w* i Conclustion | is Converse of it.
- Conclusion [l s Converse af
:"J# the third Premise,
Mo erop Is i se= = 8. [3) Al beans are pulses,
A+E=E=pype ol Cincluson
*No bean 1s & seec” All pulses are crops.
All pulses are czozs A+ A= Alype af Conclusion
"All beans are erops,”
Ho crop Is o seed All beans are eraps.
A + E = E-pype of Conclusion
"N pulse s a seed.” | Hocrop ks o seed,
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|
LAV E

T 0 RN E R—> Q?f
¥
14.04)
=
?r_l:u!' E ri*gf“*f
-
18.01)

.Y
" m&—i
] My a—-plhp
‘ mmmem&wmu I

ﬁ'Tg\.

Bl

Tor ‘thou' s '8
code for ‘how' i3 2,
= B; good = 5;
The code for ‘no’ may be ‘0.
20, {2} how = 2: good = 5;
thou = B; art = 9.
2L (1) Clearly option (1) is the
Canase.
. E‘mem_rnpummmu:e{-

23. (3) Clearly option [3) is the
CALSE.

24. [3) Obvidusly option [5) is an
BASUMpLion,

25. [5) Obvicushy oplion (3] is the
effect.

26.5) E<FgG=H>8
Conclusion 1: G > 5 True
Conclusion I : F 5 H : True

27.(1 PsQ<W=l
Conclusion [: L>P: True
Conclusson I Q < L : Net True

(28-30) :

After careful analysis of the
given inpul and varous steps
of rearrangerment 1 is evident
thal words and numbers are
rearranged from right to lefl,
In the first step one word is
rearranged and in the second

Smht,}ﬂ&mulmsl me 43
% 7234 upgo 13 before
IV : you wake 81 me 43 72

A% 34 up 24 go 13 before
" Step V : youwake 81 4372 H up
e 23 go 13 before
Step V1 : yvouwake 8143 72 up 34
e 23 go 13 before
Step V11 : vouwake 81 72 43up 34

me 23 go 13 before
Step VIII: vou Bl T2 wake 43 up 34
e 23 go 13 befare

Step X

me 23 go 13 bedore

28, (1) me

28. (2111 is step ¥,

30. (4) Option (4] is step 11,

31. (5 It 18 mentioned in the pas-
sage that 50 - 80 per cent of all
people who sulfer a heart at-
tack are able to retuirn (o work,
Therelore, the inference is del-

indnely false,

A2, {2} I is mentioned in the pas-
sage that the persons who have
suffered o heart attack should
avoid high pressure. stresaful
work. Therelore, it may be con-
cluded that the inference is
probably true.

33. (3] There s no infermation
about this inference,

34, [4) The use af term ' itely’
in the inference it
doubtiul. mrﬂqg}h irifer -
ence is probable [

35 m Cnmmd"i.uﬁhy first. line

assage 1L is clear from
I.hr fi nlui[h:pamamﬂual

th Tﬁ e is definiiely true.
ﬁi‘ tting arrangement

L’;"'" ) »

=4
T Mal, Lt
a

W s Fatas
Ecwriat,

Frram y Mle
Maw :'ﬂHtf'= Ll M

Wi f A
Famald

36, |4) P 15 10 the mmediate belt of
5.

3711 J 18 third to the lefi of T.
38, (2] T s the wife of V.
38, (3) Wives of  and V are frame-

: Bl you T2 wake 43 up 34 |

diate netghbours.

40. (3] Exeepl in UTY, in all others
the third person 18 sitling be-
twieen the first and the second
persons. In UTV, the second
pesaon is sliting between the
first and the third persons,

(41 - 44) 2

IEEEERE|

41. i3 Z ts fourth to the left of W,
42. (4] V 15 second to the Aght of T,
43, [2) Excepl m XV, in all others
first person is (o the immedi-
ate righl of the second person,

I

1

G
I
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43. (1]

I@@@@@O@"‘

EN ¥ R W L

&
‘[IIII%‘*"*__,

Lo

48. (1) Obviously option (L) 15 the
cause,

48. (3] Obwiously option 13} is the
canss.

47. [4) Opticn (4] may be an effect.

48, [1] Optiom | 1| would weaken the
argument put fonvard by the
commitiee o the sports min-
istry.

49. {5) Option 3] would strength-
en the argument,

B0. (3] Option (3] would strengih-
en the argument of govers-
ment.

{4} Spesd of train

20
i R |
=0 my{sec,

51.

58, (1} The word VISITING has 8
letters in which [ comes thrice.
& Number of arrangemenits
B
- 3!
=BxTxGxHx4=6720
508, |2) Mumber of students who
apied for dancing

18040 = 33
T S
60. (3] Required ratio =32 ; 10
=16:5
[4] Required percentage

B-5
= T“Im‘m

151]031 2+7 \0
2

B2, [2)1f the number of all sweats | 62 ﬂfnﬁ[ﬂiﬂ
be x, then %
L S ﬁi
280 420
3c-2x 001 =125
= =i
840 64, 1) Requin:d ratio = 48 ; 32
= ra540 % =3:2
. Reguired angaer 65, (1]7= _Bu55a1 =158
» 1855214
B3. (5] Required ."i':'.'.‘l."'%
=[15¢".!JCII:,' ¥ 86, |2:?_I'5_;‘.l!;|-23¢

=35:368 ¥

It = obvious freem the sable,
B6. (1) Required numbes of nersans
interviewed = 101

B7. {5) Percenlage increase

25-18
e

=100

= =388

BT, 4] 7= 30246+ 386,72~ 12347
=698 18- 12347 =574.71

68. (3 ¥7 . W50es - Y6a

B 6xlG+ W udnd
=lG+d =4
L Pmdmdund=64

: 750% 22
0. ta) :m AT
=8u71=2293-165=]128

128
==——=1I

70. [2) Females in company P
i
!E!lm =500
Fermales im company L

5
- 400x 2
“30

= 160

{11 Number of studenis wh
opted for ericket and patn } 12) Females in company M

=150
[3) Males in company N and
company P

T4

4 7
= — % 800 4 12000x —
53 x[ﬂ

=640 + TO0 = 1340
T8, (2) 7= (130011 = (137
= 2197 = 2200
TB. (417 = 55x55+5
= 3025 + 5 = 3030
1040 3 50
190 50
78. (1)7 =009+ 900- 350
= | 548
7O, (507 = 23w {272 4 (41

77 (1)7=

2
.F 2x2 a2 g1z

80. 1] Required average

" 35+ 45+ 35+ 40 + 5O
5

« 22 41 thousand

81. (1) Required ratio =35 : 30
e7:6
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82. 5) Percenitage sale :
Company P = %“m'ﬂ'

0 i
Company Q= EHIM-%.}'

Company R= %MM-?].{

Companmy 5 = %Klm- 875

Company T = Lsgﬁlm=ﬁu
83. (2) Required average
150
-T-mmmm
B4. (1) Required ratio = 35 : 40
=7:8
885, (1) Total possible outcomes
:r“'c.l=52
Favourable outcomes = 2

“ Required probability

. Let Farah's age 8 years ago
be xyears
Farah'a present age = [x + 8]
years

Gx
LX+B= Tu?’xoﬁ&-ﬂx
=3xz 56
=x=28
Farah's present age = 28 + 8
= 36 years

N

Her daughter's age 3 years ago

1
.Bﬂ-xikﬂ years

(4 C.P. of 40 kg of mixture

= 1125 x 32) « (15 = 38)|

=¥ {800 + 547)

-! 1340

5.P. of 40 kg of mixture
lflﬂﬂx 40.2)

=T 1608

Profii =¥ {1608 - 1340 = ¥ 268

= 100 = 208

peli:}
Profit % = L840
BO. [I|L 22 +5x+6=0
=+ x4+ +6=0
=xlx+3 +3x+2)=0
e+ 3 (x+ 2 ud
=xm=For -
ILoy®+ Ty + 12 \
=f+4y+3!;w
wdl =

=y U+ 4 o

) efix-4x + 20 =0
gh“-ﬁl"ﬂ lc-5)=0
& Se-a)(x-5=0

=x=4or5
2= 13+ 2 =0
=P =Ty -G+ 42=0
= yly-7=Gly-"N=0
= -8 [y=T =0
w yaGor 7
91, [4)2x+By=14
dx+2y= 16
By equation [I) x 12 - equation [,
dx+By-4x-2y=28- 16
=:~1~y= |2=hy=r$
From equation [,
2x+3x3=14

=dx=14-9=5=x=

B em

82. (5] I. x=4B25 =225

I =576 =228

3. (AL E+dxrd el
x+ 2P =0m xu-2
0 y*-8By+ 16=0
=(y-4F=0
=|-y--|
4. (2) The pattern is
3523 - 2486 =64 = 47
HE9- 2243 =216
L P=3243-87 &, 1]
=3731
27311 :n{iﬂau- 102
1731 - R =- 123
B8, [3) The patiern is :
-3=00-2=18
2-2=36-2=34

qum-haﬂ-:-

BEx2-2=132-2=130
96, (3) The pattern ds
Ax2+3= 10
10x3=3=233
F=d=4=136

:35;:5.-5.:33:1.5:@]

87, [3] The patiern s :
4000 + 5 = 800

BOO £ 2 = | 400
400 + 5= 80

80+ 240

A0 +5=8

|4] The pattern is :
Bx1+1%=9
4#2+2%=8+8=18
B3+ =48+27=T75
Tond+ 47 =300+ 64 = 364
B4 w5 5= 1820+ 125

89. (31 1R = T x 2R
= R=]4
2 CireumBerence of cirele

=2mR= Exf;—led.

= B8 uniis
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100, {1} Let the princiael 22 ®s.
then
i 15

..:'l i
"1 igo

23
e T
LIET]
= | 216Tx - L5
650052 - 2007

Es_.
= =

= Ha. 12487

{3 Heep busy = -z -

involved

102. HICr.I.ypI: "-tﬂi =,
rh- = . -

101.

EagELf

~attage

MHWE Lin i hasle
103. |5} Share Verb] = 1o 12/l ather
peaple &= vour jdeas,
eXpereTf: Helings,
1044, (50 I‘.idl::l.:: "-:rb] & 10 Show
that semiiind o8 rae of
exislz.
Some cauisnd Trasl e taken

10 avodd dgs.t==.
105, (1] Tl'ﬂ!-'-iﬂﬂﬂi‘r -"d""!ﬂil

ot chamging o7
106, (2] Enquire lbqut
somebosy
trfarmaciis
LOT. {4} Threar = "~ _ o of
i% g vamcr
108. |2} Pe st GBIV
ing 1o happen
LIl Flere, Bae 22 & conchumark
- Should B2 et
Benchmark = soething
which can oz m=asured and
used as i slas siat other

ared with.
ruence in

things can Iy
1L2.(1) Structure o =
Present iferiec

113. 13 An adjtl:‘thlil qualifics a
roun. Henee, a constant
lAdjective) Row (Noun) ...
should be used.

13] There is a preposition
related error. Hence, differenl
from the ... should be used.

114.

Look at the sentence :
American English i3
significantly different from
British English.

115, (2] Infingtive = To + ¥ (Plural
Verh)
Hemee, (o create ... shiuld be
used here,

CL16. 4} Here, martality eate from

Subject + has/nave -y [Past |

Participlel
Henee, It has 1aken almost ..,
should be used

this disease ... should be

usetl.

Rate = 3 measurement of
number of time som
happens or cxisis

particular

Rating = a me i of
lar, pnr'l.mt
éfhing 18 in

118.

el the young sokdier's

o ... ahiotibd be used.

4} Here, Present Simple Le

hat cause laughier all around

should be used as the
sentence is in the Present
Tense.

I.m 12} Infindtive without to follows
wouldnt/shouldn't

121. (1) Here, we are bringing in the
Idea ... should be used.,

123, |4) There is preposition related
error, Hence, qualified for &
government job ... should be
used,

124, (2] Here, have the device which
[Pranoun) .... should be used,

125. (2] There is preposition retated
errnr. Henoe, ensuring that at
the time passengers .... should
b s,

135.(3) The meaning of the word
Cater [Verb} as used in the
passage is ! to provide the
things that a particular type
of person wanis.

Look at the sentence :

They only publish aovels

wliich cater to the massmar

ket

Hence, the words catering anid

supplylng arc synoaymous,
1348. (5] The meaning ol the word

Eey (Adjective) as used in the
= st dm

Look at the sen
He played a key

pute
Henee llir key and im-

Look at the sentence :

A good sales person has io be
aggressive in today's competi-
tive market.

Hence., the words aggressive
and determined are symony-
s,

13B. (5] The meaning of the word
Prosperous [Adjectivel o=
used in the passage is @ rich
and succeasiul; affluenl.

The wurd (Ad-
Jective) means : having less
money and [ewer opportunities
than others; disadvantaged.
Hence, the wards prosperous
and underprivileged arc ant-
OO,

138, (1] The meaning of the word
Consume (Verb] as used in
e passage is ;1o use souw-
thing.

Henee, the words consuming
and destroying are antony-
LG

140, (1) The meaning of the word
Surge (Nomn) as used in the
passage i5 1 @ sudden increase
of feeling: a sudden increass in
the amounl.

Look at the semtence :

We are having trouble keeping
up with the recent surge in
demand,

Hence, the words Surge and
decrease are AnloNymous,
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REASONING

Directions (1-5) : In each of
the following questions fwo/three
statements are given fallowed by two
Conclesions numbered [ and I You
have to take the given statements o
be true cven o they seem to be at
variance from commonly known
{arts. Read bath the conclugions and
then decide which of the given con-
clusions loglcally and definitedy fol-
lows from the given statements dis-
regarding cornmonly knoam facts.

1. Statements

All beans are pulses.

All pulses are crops.

Mo crop 15 secd.

Conclusions :

I. All crops are pulses.

1. All beans are erops.

{1) Only Conclusion Il follows

{2) Netther Conclusion [ nor

Conclusion 11 fodlows

{3) Either Conelusion 1 or Con-

clusion I follows

(4] Only Concluston [ fellows

(51 Both Conelusion 1 and

Conclusion 11 follow,
2, Statements o~

No fruit is vegetable

All potatoes are vegetables.

Some fruits are apples.

I. Bome apple are potatoes

ik, Some potatoes besng frults

* 15 a possibility.

(I)Both Conclusion [ and

Comclusion 11 follow

(2) Only Conchuston 1l follows

{3 Either Conclusion | or Con-

clusion [l fallows

(4) Only Concluséon 1 fallows

{5) Nelther Conclusion | nor

Coneclusion [I folloas

3. Statements
All books are journals.
All diaries are journals.
Conclusions :
L Al journals are books,
1. Some diaries being books is
a possibility.
(1) Either Conclusion | or Con-
clusion 11 fallows
(2} Omly Conclusion | follows
[ Both Conclusion | and
Conclusion 11 follow
{4) Neither Conclusion | nor
Conclusion 1 follows
(5] Only Conclusion 1 follows
4. Statements
No fruit Is a vegetable. »
All potatoes are '-r.ma"blu.
Some fruits a.n:qm:s
Conclusions:
I, No frult4% & potato.
. Atléast some apples are
[WBoth Conclusion | and
* Conclusion 11 follow
[2} Either Concluston | or Con-
clusion [1 follows
(3} Omby Conclusion [f follows
(4] Nelther Conclusion | nor
Conclugion 11 follows
{5) Only Conclusion 1 follows
5. Statements
All beans are pulses,
All pulses are crops,
Mo crop is a seed.
Conclosions :
. Mo seed is abean.
[l Ne bean is a pulse.
(1] Both Conclusion | and
Conclusion 11 follow
(2} Neithar Conclusion [ nor
Conclusion 11 follows

() Omly Conclusion 1 fallows

{41 Either Conclusion | or Con-
clusion 1I follews

{3 Only Conclusion 11 fallows

8. Read the given statemenis
carefully and answer the
question given below :

The project of ih.t. Toad
construction [wagkl has
crossed its firstdeadline as far
as pre-monstonfoad works
are @meﬁﬂd& In the major
city the road works are given
great emphasis and these are
the'places where road work has
been completed,

% Which of the following can he
concluded from the statements
gven above 7
{1} The start the work of the

road one has to go through
a lot of tiresome paperwork
before starting the repair
work which delays the
whale work ol the road,
[2) 1t takes several hours while
travelling via these roads
() The work of the road is gn-
Ing on
[4) They willstart the road
works well in advance
{5) None of these
Directions (7-8) : Read the
following information carefully and
answer the questions which [ollow :

Supermarkets are growing ata
fast pace than Kirana Stores.
Hirana Stores are such places where
customer go to purchase their me-
cessities. In place of five Kirana
SLOres OTE 07 (WD SUpermarkets are
being established. It has been fourd
that customers’ requirements are
looked after by trained stafl, [t has
been found that food products are
low e products which are mant
factured from local manufactiurers.

These products are typically pur-

-]
ra

e
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4] Kirana stores owners are
vying to acquire franchisee
of supermarkets as the lo-
cal shops have lost their
charm and business.

(5] Kirana stores do not sell the

and people are being encovraged i
bury & maobile phone set at a cheaper
rate. The mohile lechnology anc
smariphones have the capabilities
of handling video calls, sharing
large files. Mobile technology hac

chased by the cusiomer on the as-
surance. The market is appealing to
supermarkets and retal] outlel own-
ers are setting up their buasiness in
other areas where there are less
HKirana stores.

7. Which of the foliowing can be
a good argument in favour al
shopping from Hirana stores
inatead of supermarkets ?

1] People prefer supermarkets
because they offer a langer
range of prochuets, i.e, prod-
uets other than FMOG and
they can buy everything
under one roal,

(2] People end-up buying oth-
er ireelevant things along
with those on their shop-
ping lists in Supermarketa
and then they have to stand
in long queues at the bill-
Ing coamnters,

{3 Most Hirana stores are
closed atleast one day in a
werk whereas supermarkets
are open 365 days a year,

{4) Kirana stores do nol accepl
debit and credit cards.

(5) Very few Kirana stores sell
products at a bargained
price.

B. Which aof the following can
inferred from the

informatien? (An il iﬂ,
something that Iy%
stated but can tnfeg

the given information).

(1) Mosi s ts and re-
el oy 1078 choose to
sel sirncases in arcas

& very fow Kirana
mu‘plc tend to trust retadl
outlels and supermarkets

when it comes to buying
high value products as op-
pased Lo buying them rom
local shops,

(31 there are two or more
Kirana stores in a typical
residential area the compe-
tition among them is very
high.

"1
1D

products which consumers
have on thetr regular shop
ping lists, so they have o
depend on supermarkels.
Directions [B-11] : Read the
following information carefully and
answer the questions ghoen below
Amoeng five personz - P, @, R
& and T — each has different hedght.
Omly two persons are shorter than
5. T s shorter than 5 but taller than
R. The one who is the secomnd tail-
esl among them is of 155

centimetne.

i

2. Which of the fol %
statements |s defipitely =
with respect Lo n
information ?

(11 R 1= defimi em

(2] Mone miwan state-

(i

!
13T er (han S

1 Is shorier than 5
Pz possibly 153 em
ﬁv ich of the following is

prssibly Lhe helght of @ 7

[1) 148em (2] 156 em

{3 152em (4]} 150cm

{5) 158 cm

How many persons are shorter

than @ ?

(1) Twa

[3) Four

[4) Cannol be determined

(5] Ome

Directions (12-13) : Read the

loflowing statements carefully and

answer the questions given bebow |
Maobile tochnaslogy has played

greal role in growth and develop-

meent of society. Earlier cellphone

was used &5 a medium ol conversa-

lion only. Mow mobile phones also

support a wide variety ol other ser-

vices, such as, texting. email.

internet aocess ele. The price of

11.

12] Three

=)
)

mabile phones i5 also decreasing

#s mobile phone has i
era. Therelare. th
carty around a
Yo go,

12

13,

made 11 more efficient to conduc:
business. Video ealls and taking

saible
uilt cam-
S0 need 10
everywhere

phs have

T

ol allcwing canna’

rred from the giver

o 7 [An inference s

ng that is nol directh

bt can be inferred from
e gEven information).
10ne can share pholos anc
videns via mobile phones
provided that the other per-
son hus o similar device.,

{21 Many features are heing
added vo mobile phones
now-a-davsa

[#The other features of mo-
hile phenes are nol a8 wse-
ful as the bullt in camera

[4) Mabile phones can be usec
for purposes other thar
making calls

18] Technological advances are
taking place in fields othes
tharn cellphones as well

Which of the following ean be

concluded from the giver

Information 7

(1] Buying a phone with a eam.
era IS more canvendenl thar,
buying two dilferent devic-
=]

2] Mobile phenes that are ba-
=ic last lomger than the ones
wilh added lfeatures

§3] Mot many people are inter-
esled in elicking pictures
with mobile phones

4] It is possible to share pic-
ture with sameone havirs
a similar camera

i6) Mo one will buy camerzs
now oriwards
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Directions (14 = 15) : Study
the following information 1o answer
the ghven fuesiions ;

TRAVEL’ is related to "UD-
KUSE" and ‘CORNER is related to
MDQDPS",

14, “SURVEY s related to ___.

1) IDXNSTV

[2) UXDTSV

[} TVEUDX

149) UDXTVS

15 UDEVTS

18. "GROUPS 15 related 10

(1 TORHSP  [2) TOHRSP

(N TORPHS  [4) ROTHSP

{5) ROTPHS

Directions {16-20] : Study the

following information to answer the
glven quecstions -

In a certain code '8 2 5 means
‘how art thou,' '8 5 8 means thow

art good' and 1 5 8 ¥ 3' means ‘thy |

Zood and thow bad'.
16, What may be the possible code
For ‘thy" ?

[1hlor?
33
B lor7or3
17. What 1s the code for ‘thou” 7
(e 28
32 [415
15 None of these
18. What is the code for how' 7
s 28
Az A
(5} Mone of these
18, Which aof the following may
possibly be thé code for “thow

7
M} &

0 good 7. N
(sosd g Te0
[ME0F H7e0
[5) Norie of these

0. Wit 1 the code for “how good
thou ar” 7
(17589 (218205
(317183 (48785

(3} Cannol be determined

21. Effect : The temple at the
religious site wears a deserted
look with the number of
devotees trickling daan.
Which of the following can be
a posstble canse of the above
affecl?

1A stroctural engineer had
visited the temple a manth
back and had declared the
streciure unsale,

{2) The temple is facing & dras-
tic depletion of 1s funds
which had accumulaled
over the years due o ofler-
ings made by devotees,

[3) The local corporation de-
cided to donode a huge
amount of money {o the
temple for s removation,

|4 The willage housing the re-
figlous site has qualified
priesls lo perform religious
CErermnnbes.

{5 A famous actor recenily vis-
ited the temple and pald his

reapects to the deity.

. Statements : The Income Tax

authorities carried ot radds at

three different business holses

in the city last week),

Which of the following can be

a possible effect of Lhe above

staternent %

1} The ghree Blsiness houses
argregular defaulters in
‘payment of thelr income

T,

l‘ﬁ"ﬂh‘ Income Tax department

had recedved a tip off mbouwt
the illegal activities going
on in the three business
oises.

13 The Government decided (o
look into the matier and
has appointed an inguiry
committee.

(4] Cther business houses ook
Immediate sction Lo clear
off all their iecome tax dues
in order Lo avoid a raid on
their catablishrments.

[5) The authorities intend to
conduct ralds in several
other business howses in
Lthe wicinity.

Effect : As a alep Lo regulate

private hospitals. the state

bealth department is framing
rules to enswre afl such hos-
pitals are registered with it

Which of the following can he

a possible canse of the above

statement 7

(1) The depariment realised the
privaic hospitals charge
much leas for treatment as
compared lo government
hoapitals,

2} Government run hospitals
do nol maintam the same
standards as privace haspi-
tals.

[3] The depariment tealised
thai several hosplials were
rejectingEases stating lack
of inlrasiructure.

4] Aparl, [rom the number of
doeteTs, murses and beds,
the ks of procedure & hos-

“palal can carry out based on
s infrastructure will alse
“he registered and detadled,

(5) Private hmpﬂ.&l: nor regls-
Lering with the department
shall be forced to do so and
will have to pay helty pen-
alties.

. Statement : The conslable has

been recommended For a suit-

able reward by his superior in

recognstion of his sineere duty

and busting of several gangs ol

eriminals nrllvrl:,r invalved in

the Joot and incidents of pick-
pocketing,

Which of the [ollowing can be

A possibic assumption of the

abwove statement 7

{1) The superior 15 cerlain that
the recomimendation waould
be dhervied.

[2) The number of criminals ap-
prefended by this particu-
lar constable was excep-
tionally high.

[} Thee constable desires 1o be
maonetarily compensated
for his efforts.

(9} The superior wanls to sel
an example for his other
juniors by recommending
the reward,

13) Rewards recognising the
sincerity amd accompliah-
menis of palicemen are
giver.

. Statement : The college has

finally recelved acereditation
and has gained the status of a
deemed university.
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Which of the following can be | Input  : 16 today 32 wailing 21 are 1 13) 23 you wake 81 me 43 72
o possible effeet of the above I 1 people 46 bus 65 long 20 34 up before 13
sLalernent ? Step 1 - 16 oday 32 wailing 21 11 140 223 you wake 81 me 43 72
111 The principal of the college peopde 46 bus 65 long are Lo 34 up §3 before
will :‘:lmr haruﬁll:ﬂnfﬂlmd Step ll : 16 today 32 walling 21 (5] Nane af ihess
0 Mesmdier o eidenti it fre” GmOSINEIL | Directions (31 - 38) el 1«
ﬂ:" ’“"]:” i ’:"g v A given a passage followed by several
miasiorn be this eollege dn | Step 11 - todiay 32 waiting 21 possibile inférences whi he
the next academic year people 46 GG long bus | | i froan e Theks: ithe
wonnlel drogr signdlicantly. ane
ssage: You have w ach
[.‘!Iﬂmm]kﬁrmllchw;:m StepIV @ today 32 walling 2 hp:ili'!r\-.'.'i'll'\' separaiel e
fees from all its sludents | ﬁnpl: A6 56 long 15 bus of the passage e upon it
?r:RI:f.:ml#;::Enl:_mam o degree aof Lruth iy,
) The colcge wil educc the | || 6531 1ong 16 1 | Markhawee (1) If the fofer-
l :;::GGIF ! “ﬂfl ) 0N il enice is definit ely true” i.c. it prop
iy r ool courses that it | Siep WVl @ wday 32 wailing 46 &6 erly_jollaws' from the statement of
runs by & sigmificant - p-mpl:ﬂllon,q_iﬁhusil Tacks
gin. ' :
{56 The reputation of the col- | Step VIE: luday waiting 46 65 3. N, p:m‘nhﬂ‘"—l.;i:u;]ﬁ:n
lege amongst the student pmph 21 bong 16 hu.i efinitely true” in (he light of the
populaton in general has ﬁ.ml_-tg:vrn
m:ecumﬂzs-zﬂ ] “ﬂ?}t g {,  Mark answer (3) If the data is
R reshi bl % Mqum e, from the facts g
;‘:::nt c:t:lr:lmla is -\J:mwn in the | Step IX : waiting aday 32 tm o mr}T;,T‘,T*;h"hr;:En'
latements These stalemenls are people 21 logg 16 bus 11 | <0 B IR :td:lnl.?:h: i
clbowed by two conchusion o R 3
Mark -.:?m 1 i StepX : ; Iting 46 today 32 f;‘;u;:l; e “‘:’;‘ﬂ:‘ﬁﬂh sl
1] Only concluston | e 21 Jlong 16 bus Bints p',ln:)n .8 &
follows, b o
" ;nf;“':unmsm ” 15 the last Siep of the | Mark amswer [5) [ the mivr
fallora, - gement of the above in. | ©00 15 “definktely false™ i.e it can
@ Either soncha | %m as the mtended arrange- | 704 possitly be drawn from the facts
a1l B i F;%z_ ment [ obiained. given or 1 coniradicls Ihe given
Mew, h sl Iacts,
Wi e ';,f;;;r-f*“W4 based on the followang inpun ;| 090t § Bach of the five ques
- ok , 1| Input :23 you 13 wake 81 me wons has unj_:.llnne dl.-\!.m.-t AN=WEr
! 43 before 72 go 34 L. o Pwoe questions can have the
and b ™ o up same amnswer, I you gel the sams:
26, Btatement :E& s Ha5| 28 Which DI]EEE words SIum- | e for more than ane question,
Conclusions : :;I““ brﬁrrf‘;:'lslfmmle!}? consider both again and deeide
L GoxSp% * W Sep MPSEE | which one of the e would more
0 F gk (1) me (2] 43 definitely be that answer and in the
27. eat :PsReWsl (¥ 81 (9] walke same way review Lthe others also.]
m, 154 None of these Cardiovascular disease is sa
R isp £ 29, The Following stands for whach | prevalent that virtually all busineas-
.y step of the rearrangement 7 es are likely Lo have employess who
wall Q=L you wake 81 43 72 34 up me | suller from. or may develop. this
{28 - 30) : Study 23 go 13 before condition. Research shows tat be
the: following information to answer 1] Ste ep IV tween S0-80 per cent af all le:
) {1} Step X (2] Siep per peop
the given questions () Step Vi 4] Step V whao sullfer a heart attack are able
A word an‘:':umhtr arrange- 5 B of thit Lo return to work. However, (his
ment machine n given an input . iy nal be possible if they have pre-
line of wores and numbers rear. | 90 Which of the lollowing would p

ranges them followtng a partscular
rule, The following = an llustration
of input and rearrangement.

ANl mumbsers in these ques:
tions are tao digt numbers)

be Step [ for the abave input 7

11):23 you wake 81 me 43 72
34 up go 13 before

120243 you 13 wake 81 me 43
T2 go 34 up before:

vioualy been involved in heavy phivs
teal work, In such cases. it may be
possible o move Lhe employee Lo
lighter duties. with appropriate re-
training where necessary. Simikar
Iy, high-pressure, stressiul work
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ed.

four

s,

ling

38.

the Following informal e o ansaer
L given gquesizosg @

cle facing the cenlre, The professon
ol the males within the group are
lecturer, bowyver, doctor anel aederi- 1

lawyer) and V (the acientisi) are ait-
besides his wile, U, the wile of the
lecturer s seated second 1o the ny

af ¥,

i3 the wale of the doctor.
the doctor. 5 1= a male

{11 Therd. ta the Lell

» Which of the following 1s Dot

evert where il docs not invohee phys- |
peal activity, should also be avold-

Human Resource managers |

shiould be aware of the implicetions
of jobr roles for emphoyees with &
cardiac condilion.

Employecs whiosofler Fomear
dereasenlar disesse e el
by urealile Lo retirn o work.
Employees suffering lrom Car-
chiovascular discases are un-
able 1o handie stressdul situa-
Uans,
Employees above the age of 50
are found 1o suller fram car-
disvascular disease

Physical and stressful work
delinitely leads to a heart an- |
Lok,

Heart disease enn affert em
plovees in any type of busi- |
ness,

Directions (36 - 40 | Swdy

JoRQ RS T Uand Y are
roirried cossples silling in achs -

Amdng the males, only R [ihe

logether. Each man 18 sealed

T is sealed betwern U and

Which of the s
position wit g
(1} Second 1o thi i
(2] Serond Y the ol
(4] Iy e right
4l lpmedinie Teft
4l TR to e leln
al ihe following 15 J's
sitlon with respect 10 T7

{2} Fourth o the right
{3 Third to the fghi
14) Dpposite T

15} Second o tiwe fight

true regarding the couples ?
110 P l= the walie of S

| 28,

of T

| ainid £ are sitting i
facing norh. W sits right
W does L v oof ex-

treme emvds. T
| Zand X. ¥

125 T 1 the wile of 3

. Four of the follewing are alike

the following tnforemation Lo
the glven guestions !

. IF all the seven Friemds are made

(3} R 15 the hushand of J

{411 and S are seated adjacent
to each other

15) All are truwe

The wives of which two hus-

bands are immediate neigh-

latsars

(yur (2} SR
3vg 4] RV
3 None af these

in i certain way based oo thedr
seating poaition in the above
arrangement and so form a
group. Which is the one thad
does not belang Lo the group?
[I] R&S 12) TRy

3 UTV {4) 5GP

(5] PG

Directions (41 - 44) ¢ Si

Seven friends. T, U,

wie neighbour od ¥, |

[2) Third to the right

[ Faurth to the left

[4) Third to the left

[3 Fourth (o the rght

Who is secand b6 the right af
"

my 2 X

Hu v

[5) None of these

Faur of the following fve are
alike ina certain way besed on
their seating positions in the
above line and sa form a
group,. Which is the one thal
doets mat belomg to the group ?
(1) uw [2) X

i3 ET 14 ¥V

i3] WX

o st alphabetically from rght
1o beft. positions of how many
will remain unchanged ?

11} None {2} One
|3 T 14) Thres
13 Four

Directhons (48 - B7) : Hoad -
Eiven statemenis carelully and o
swer Lhe guestions which follos
A8, Afier ibe RAVATTH 1]

naonimced o oanpensalonsy

oy far fan e rs i refurs
acguisiion af Lhedr
fnrmers demand
prool of the podi

) ol
[or de

i Lhe inadedgui
pensation for il

ATANPETSAL o P i)
in the palicy was grossly in
adequalee,

193] The farmers were unwillaig
o sureender heir Lisils 1o
the governiment,

(4] The farmers demand o vis
Ladn-prroenilage ol sliuoe on
ol the revenue generatid b
the government ofl (b
Lammis

[5) The only eption le crdoroe
the government oflicials fo
frame & compensatory pul-
by Bor the farmers was 1o
demicinud & proof.

The number ol cases concer -

ing a mon-contagious chemi

cal podsoning is on the rise
among local villagers,

Which of the following covid

possibly be a Cawse of the

statement given above

[ B} Thee gowvermmensl Bas ordered
an immedirle eruiny indao
The maller.

(2) Unless timely Lreatiment is
provided to the patients, the

saning can prove Lo b
atal

1) Many factones surmousneding
the village da mob dispose
off their wistes apgaopri-
ately.

{4) The only hospilal in the
rea s ol equipped 1o toest
chernical polsoning relatod
allments.
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{51 A study done a couple of
vears ago had reported that
a large number al farmers
had slopped using chemi-
cal fertilizers owing Lo their
I-effects on heakth.

47. Small grocery shop owners
have gone on a day's strike in
order lo protest against the
entry of a foredgn retaill store
chaln In the eity.

Which of the following state-

ments can be an Effect of the

statermnent given above 7

{1iThe small grocery shop
amers percetve the hig re-
tail giants as sharks, try-
ing t0 domdnate the avail-
able market space.

{2} Foreign investment in retail
has shown & tremendous
growth in India since a cou-
ple of years,

{3 Thers have been several
couniries in which retail
chaln glants have lotally
wiped out small scale gro-
cery shops.

{4} The government agreed fo
take all political steps re-
quired to safeguard the in-

terests of small scabe retail-
ers,

15} A recent survey indicated
that a large mumber of peo-
ple prefer ta buy their dai
grocery ilems fram o

er than big rl:'l.nll**h
stores, %,
Directions wqﬁg&m the
following staterments carefully and
which follow,
ol sports has

nearby grocery 51 -

Il':tl'l__ by a committer
o take the highest award 'in
thie fiekd of sports hack from

‘o players who were alleged-
ednvolved tn mateh fixing.
Which of the following state-
ments would weaken the ar-
gument pul forward by the
commitles 1o the sporls min-
istry 7
(1} A good conduct in the past
and a lack of evidence
against the players make
the case against them very
weak.

[2] The einistry of sparts has
never declined the recom-
mendations made by the
commidltes earlier.

[3) Taking the award back from
the players would sel a good
example o other players for
avording such actions in the
future,

[4] There have been past cases
where the award had to be
taken back from the play-
er% owing (o some miscon-
duct kater on.

(5] The conumiiies is constitut-
od of some of the most re-
spected and esteemed mem-
bers from the flebds ol sports.
and politics,

48. Many organizations have been -

resarting o recruitment "
upen performance at gradie |

atefpost-graduate

rather than mrdumﬁ“&um

for the same

Which aof the slate-

ments would, en the

argument gven in the above
siatement ¥

[J,}.Qﬁﬁ'i:nl. study shows ne
Ak of past performance
ﬁilhﬂwmm:m re-
 eruitrment EXAITES,

[ﬂlmyadum:,l'poﬂ graduate
exims are oonsidered to be
severely defcient in tradn-
ng im jobr related environ -
[T

[3] Organisations which had
undertaken recrullment on
the: basis of gradwate, post
Fraduate exams report & sig-
nificant drop in the quality
of the recrulied employees.

(4] Such policies would add o
unemployment among siu-
dents having below average
performance in graduaton
or post-graduation.

5] Sueh policies could save
Lime, money and resources
of the organtsation which
are wasted in the conduct
of recruitment examina-
Lhoas.

BO. According io & recent govern-

ment directive, all bank

branches in rural arcas shouwsld

b compaiterized.

Which of the following state-

menils woulkl weaken the gov-

ermment's argument ?

{1) Computerization of bank
branches in urban areas
has heiped in %M
perfarmance mope &
and fast,

(2) Lack of slu_ﬂl.‘ﬂ-gﬁi quak-
fied manpower has been
suitablysubatituted by com-
puters inbatks,

{3 Nofscomputerised bank

% in Lhe rural areas

. & been proved o be as
Sellickent as their computer-

W lzed counterparts,

$The government has intro-
duced a special test for
compuler knowledge in all
recruitment exams for
hanles,

15} Unemployment in the ru-
ral areas could be coninolled
by Lraining more and more
prafessionals in computers,

(QUANTITATIVE APTITUDE )

Bl. A 220 metre long train croases

a pole in 50 seconds, What is
the speed of train 7
(ll46m/sec [2] 7.2 m/sec
(3 54m/sec  [4] 6.4 m/sec
{5 Cannot be determined

In a school some sweals were
1o be distributed among 420
children on the occasion of
Teacher's day, But 140 children
remained absent on that par-

ticular day and hence each
child gol one sweal extra, How
mary sweats each child would
have got originally *

(1) Cannot be determined

(22 (N5

(14 3

Directions (53-57) : In the
following questions information
about number of candidates inter-
viewerd by five commercial firms on

dilferent working days has been pro-
vided, You are required to read the
table carefully and answer the gues-
tions given below
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Number of candidates inter-
viewed by five firms on different

working days

Firms
Waorking | A| B c|n E
Dﬂ.}' t &
W HESEIEES
Tuesday |21 18 1425 i5
Weodneoday 23] 22 | &3 12 -5
Thursday |24 14 12 23 .5
Fridy | 10] 0] 15 % &
Saturday | 7] 25 80 2. i+

B3 What i3 the reapesi
between the number ¢
dates Ir:Lcrln-.'u ed

total nu m't-e-
Interviewed v
the same dav *

58. In how many ways the letters
of the woed VISITING can be
rearranged 7
(1) 6720 {2) 5720
13 720 [4) TEAH
(5] Nane ol these
Directions (58-84] : In the

fellowing pie-char per cent of stu-

dents enrulled in different eubiural
activities of a school has been
shawrL You are required o study the
p:e-l:h.lrt -ﬂrﬁu“!.' and anawer the
guestions given below :

Number of students = 1800

(124 ik 60. the respective ratio
(3] 38 i n the number of siu-
T S 7 nts whi opted for painting
. and ithat wh opted for Karate?
B85, In which firm 2 .
[113:7 [2)5:16
candidaies [M16:5 s (7
creased conE (5] Nome of these
Momaday 1o Sat 61, By whal per cent is the num-
B ber of candidates who opled for
musde more than thise who
opted for sports 7
i3 {255
15} 45 el
{56} None of these
62, How marty students have opted
; for ericket and painting to-
b gether 7
[3) 114 458 {1) 702 2] 602
[5) 96 13 660 (4] 645
B7. By what per cent the number [5) Nogwe of these
of candidates interviewed by | 83. By what per cent is the num-
firm E on Tucsday increased ber af students who opded for
f inter- cricket and dancing together
WER- FERpRL b Hank of 'm“i more Lhan Lthose wnﬁu;:dfnr
viewed on the preceding day painting and music wgether?
(1145 (2) 25 17145 {2 125
) 61 [4) 55 3] 165 {41215
15 38 18] None of these

84, Whal 1 L respective ratlo be-
tween the number of students
whix opted for dancing and ka-
rale to those who opled for
pamting 7
1j2:3 [2)1:3
331 (4)3:2
5] Mone of these
Directions [B5-68] :

value should come in

questions mark 7} in L

questions 7

.22

146

86, 1B5x214x @
(1] 158 {
i ' q]

hai

g

172

05=7
(2] 24
(4] 216

. 3248306, 72- 122477

(1) 576,77 (2] 54717
(3 547.77 {4 57071
% 57771
¥3096 + 61 = 47
{1116 {218
i) 84 45
1514

89, 7% ofBOOD =299 - 29% of 750
[1]14 121 18
13 12 14 16
{5120

Directions (70-74] - In the [ol-
lowinig table, the nurmber of employ-
mmhhmﬂm!
correspanding ratio of male and fe-
eriale emmplavess have been ghven. You
are required 1o study the table care-
fully and answer the questions ;

Company Number of
Employees
L 400
M 00
N E00
] 10
P 1300
Company | Male :Female
L 2 : 8
M s : 8
M 4 1
] 13 12
P 7 : B
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